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Thursday - Quarter of a Quantity

1. Write the lefters info the spaces below fo make two corect statements.

A quarter of is A quarter of is
A. B. C. D.
S 5 3 3
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2. Putan X’ under the container that is a quarter full.
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3.7ac and Layla are frying fo find the whole. They know that the quarter is 4.

Zac draws, @. Layla draws, (Y]

Who do you agree with? Explain your answer.
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Maths - Quarter of a Quantity (page 8)

Question 1 - To complete this question, children should count each group of flowers. They
can then pair the whole with its quarter to complete the sentences.

A quarter of A'is C; A quarter of D is B.

Question 2 - This question displays 4 jugs of water. Children should identify the jug that is a
quarter full. They should notice that B is a full jug and A is a half full jug. They should then
find the jug that is half the quantity of A.

Jug Cis a quarter full.

Question 3 - This question explains that one quarter of a number is 4. Children should use
this information to find the whole. Two children, Zac and Layla, have used counters to
create what they think is the whole. Zac has used 4 counters and marked 1 counter as the
quarter. Layla has used 16 counters and marked 4 counters as the quarter.

Laylais correct as 4 is one quarter of 16.
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Monday - Halving Shapes or Objects

1. Oscar thinks all of the objects below have been halved. Is he correct?

2. Count how many halves there are in fofal and circle the corect number below.
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3.Tom and Jen split a pie in half. Which pie belongs fo them? Convince me.

beee





image2.png
Maths - Halving Shapes or Objects (page 2)

Question 1 - This question gives 4 items and explains that Oscar thinks they have all been
halved. Children must identify whether Oscar is correct. Children should check to see if
each item is equal on either side of the line to decide if they have been halved equally.

Oscar is incorrect. The paintbrush has not been halved as it is not equal on either side of
the line.

Question 2 - In this question, there are 4 shapes with lines drawn to split them into parts.
Children should identify which shapes have been split into equal halves. Once they have
decided, they are then able to count the individual halves to find their answer. They
should count each half as one.

The triangle and the rectangle are both halved equally. There are 4 halves in total.

Question 3 - There are 4 pies that have been split into 2 parts. Children must decide which
one has been split to create two halves and explain their answer.

Pie D belongs to Tom and Jen as it is the only pie that has 2 equal parts.
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Tuesday - Halving a Qual

1. The group of cherries below is halved. How many cherries will be on each plate?

Jo
O
do ds

2. Half of 8 s 4. Draw the counters in the hoops fo show that this statement is comect.

OO

3. Half of Shazia's eanings are shown below. How many eartings does she own in
total? Explain how you know.

¢ %





image4.png
Maths - Halving a Quantity (page 4)

Question 1 - There are a total of 10 cherries. Children are asked how many cherries would
be on each plate if the quantity was halved. To create equal halves, there must be the
same amount of cherries on each plate. It may help children to draw the cherries onto
each plate to find their answer.

There would be 5 cherries on each plate.

Question 2 - This question gives the statement ‘half of 8 is 4'. Children have 8 counters and
2 hoops. Children should draw the counters into the hoops to show this statement is
correct. There must be an equal number of counters in each group.

The completed hoops should look as follows:

Question 3 - This question explains that the earrings shown are half of Shazia's total
amount. Children should count the earrings and then double the number to find their
answer. They may count the individual earrings or the pairs.

Shazia has 12 earrings in total because half of 12 s 6. Also accept é pairs of earrings
because half of 6 is 3.
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Wednesday - Find a Quarter of a Shape or Object

1. Filin the gaps with the correct lefters.

A B. c. D. E
Shapes | and are splitinto quarters.
Shapes | . and are not split info quarters.

2. Which object below can be spiit into quarters?

3. Alex thinks he has split the shapes into quarters by drawing 2 lines on each shape.

BPA

Do you agree with Alex? Explain why.
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Maths - Find a Quarter of a Shape or Object (page 6)

Question 1 - In this question, children should use the shapes given to complete the
sentences. To do this, they must sort the shapes that have been spilt into quarters from
those that have not. Quarters must be 4 equal parts.

Shapes B and E are split into quarters; Shapes A, C and D are not split into quarters.

Question 2 - This question gives 3 images. Children are asked to identify which object can
be split into quarters. It may help children to identify which shapes can be halved into 2
equal parts, with each part then being halved again to create 2 more equal parts.

Only A can be spilt into quarters. B and D cannot be split into 4 equal parts.

Question 3 - There are 3 shapes, each with 2 lines drawn through them to split them into
equal parts. The question explains that Alex thinks all 3 shapes have been split into
quarters. Children must explain whether Alex is correct. Children should count each part of
the shape and identify if they are equal to help find their answer.

Alexis incorrect. A and B are split into quarters by drawing 2 lines. However, C has only
been splitinto 3 parts. The triangle cannot be split into 4 equal parts.





 




 

